3 (Sem—4/CBCS) PHI HG/RC 1

2022

PHILOSOPHY

Paper : PHI-HG/RC-4016
( Logic )
( Honours Generic/Regular Course )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed (any ten) :

1x10=10
feRecas o Tee far (R @ web) -

(a) “‘An argument is merely a collection of
propositions.” Is it true?

“qb1 IS A @ Rgwm R R
3BT 361 ?

(b) On what depends, the wvalidity of an
argument?

ex tave 727 eoe e 3 7
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(c)

(d)

(e)

(1)

(g

22A/1229

(2)

Give an example of class membership
proposition.

C ST o7 1 Tzt fieat |

“A valid argument can never have true
premises and a false conclusion.”

(Write True or False)

Qb1 (34 IS o] SN I HF 1 SPTS
PraE @foms A @@= 1

(o1 1 foreg ore)

What is the symbolic form of universal
negative proposition?

MRF 1T 1 AHfos Bz a1 248 2

What is the name of the subject of the
conclusion of a syllogism?

TS Braed S MoR w1 & 2

Which is the symbol that indicates the
form of a compound proposition in
symbolic logic?

AP SHRES @ adice AfEE B
R S o a2

(h) Does a variable contain a

(1)

()

(k)

(3)

definite
meaning?

541 31 6T et e =il s 2

Find out the alternative proposition from
the following :

ot TGRS o/l (ol 081 1% Sfieq -
(1) 1 eat rice or bread.
T2 S H{1 F 9 |

(ii) Either he or I shall go.

(©8 T 2 I |

(iif) He is alive or dead.
©8 Gk w211 7o |

According to the rules of syllogism, if one

premise is negative, then conclusion will
be . o=

(Fill up the blank)

W SRR Y SR, wf @B ey wme
TRYLF T, (SR PBras 29

(=00 31 et 1)

truth table method a decision

procedure?

Torel I 1w S b Gl e = 2
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(4)

(I) In obversion, there is a change in the
quality - / quantity / both quality and
quantity between premise and conclusion.

(Find out the correct answer)

fSTETE SREE WE P TEe 8H
AS /[ ARTR AR / @ S ARTER
TS “RaeA = |

(o= Taaco! ifz Sferedn)

(m) Mention one important relation between
symbolic logic and traditional logic.

O SFREH WE SRES SRS
TS 4T b1 @FGf Ty Sead 40 |

(n) ‘BOCARDQ’ is a valid mood of the

figure.
(Fill up the blank)
‘BOCARDO’ SRR 901 63y 7S |
(41T 3T =3 1)

(o) Who is the father of Logic?

SR T (T ?

( Continued )
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(S)

2. Answer briefly (any five) : 2x5=10
o3 Teq frr (R coeann #fiwbt)

(a) Mention two characteristics of argument.

R o1 R S 1

(b) State two differences between proposition
and argument.

o S Y TeE© 4 01 #A12 forsi |

(¢) Are A, E, 1,0 propositions categorical or
conditional? Which term is distributed in
a negative proposition?

A, E, I, O 3579/ FR07r® & Sors 2 s
oS 3 <% e 2

(d) Define one-predicate proposition with
example.

% Reygge o Surgaertz sige i |
(e) Name the authors of  Principia
Mathematica. ;

Principia Mathematica SRS GI{F &4 ?

(f) Define immediate inference with example.

TIRIPTR S S e o |
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(6) (7.)

(g “He gave me a nice present in my (c) Transform the following sentences into their

birthday.” Find out the ‘referent’ and logical form of propositions : 1x5=5
‘ d . .
relatum’ of this proposition ) ©eTe firdl TR SRS e Red
“oé @M e @b T TR fife | 0
% T TR S TR R St | ,
(i) All that glitters are not gold.
(h) What is the fallacy of undistributed STRCE! DO I8 (TN 7= |
iddle? i
middle (ii) Every man is liable to error.
A0 o (q e 0E ? ofSem
& Y O 03 T A |
g (iif) Li
3. Answer the following qucstionS (any four) : 5x4~—20 . ) Lions never eat grass.
bt expe o (R o) : PRt o Yo
(a) Write a short note on (any one) : " > 4 (iv) Almost all people are present in the
‘, v b meeting.
Y ot foran (R copteent «@bt) e\ g/ &I IR TCRR oIS SoAfers wifee |
(i) Truth and validi ' -
and validity iy (v) Only intelligent students can pass the
TSl HF (4 examination.
(i) Square of opposition of proposition @99 AT TARGEE AR T 27
T A 7 Fofeea Lok
(b) What is symbol? State four utilities of usiﬂg*y 5 (d) What is simple proposition? State different
symbols in logic, 1 types of simple proposition. 1+4=5
T R HRewrs o TR o1 e o I (I ? A9 o] [RfSw HPPTZ
%omf‘m W 01 & ﬁs, Ty 40|
22A/1229
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(8)
(9)
(e) What is logical constant? State differences
between logical constant and logical 4. Answer the following questions (any four) :
ariable. 2+3=3 10x4=40
) PR e e far (R e Sk -
Py SREA IR Q@UET? SIE SRR HE .
R B TErS ¥ ANYH o | (a) Define syllogism and explain its
: characteristics. 2+8=10
() What is conversion? Make converse of
the following propositions : 2+3=5 T e feel ST 2 (3 PRSI SIN
e FE @A ? oo ST I57ee0[ (b) What is figure of syllogism? Explain
G 9 : different figures of syllogism with
examples. 2+8=10

(i) All men are mortal.
el T 20 TR | el s, TER EF e B qwe SR e
(e N ffSa PR T 40 |
(i) No men is perfect. / CA
(c) Define a proposition, according to the

GG TR 7= #4ef | ! .
TR Z modern logicians. Describe different kinds
(i) Some men are honest. A A of compound proposition with examples.
g TR = Y | 3 2+8=10
wyfRe ST o, B RS ferar
(g) State the general rules of syllogism. 5 TR SR oo R g ifae o4
A TR TRuRa) Seay 341 1 Jefe 3641 |
: | : :on? Explain the rules of
(h)  Explain four-fold scheme of proposition. 5 (d) What is obversion d 2+8=10
obversion.
Tord T o RRmer < 34 |
“ ofad 715 QA7 dfeTET FREPTR T
Fq1
22A/1229 - ed )
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(10 )

() What is symbolic logic? Discuss the

characteristics of symbolic logic. 4+6=10
ABREE ST 7 dORNE SHREET
CfEPTTR Sl 41 |

(f) Explain differences between traditional
logic and symbolic logic. 10
NS SIS BF AP TR
S ~A1% AT 0

(g) Explain the process of the application
of indirect truth table method with

examples. 10 ~ouinto

TIRRR SRS “E&TF Sore] Oiferd] Jafs sl
TE I Q0|

(h) Construct truth table for the following and

determine the truth value of each : 5+5=10
e AR erel wif oW 9 S
ACSRCI oy Tty z:

(i) [{(p>Dq)>Dplog

(ii) (p-q)v~(pvq)

22A /1229 ( Continued )

(11 )

(i)  Symbolize the following with the help of
logical symbols as used in propositional

logic : 2x5=10
AT SFREES 989 @R O SO
TS were fAERT A9 el f -

(i) ‘But’ is truth functional, while
‘because’ is not truth functional.

TORFE S 72y |

(i) Tt is false that Lovlina Borgohain is
not an Indian boxer.
2B OS] @ SR FCER QoRTR)
SRON I 77 |

(iii) You will pass in the examination if
and only if you work hard,

o RIS “ire IR 3 W wficz o
32 391 |

(iv) It is untrue that students are not
intelligent.

2051 SPT) (F WTe IR A |

(v) If it does not rain,-then we shall go
for shopping.
i ey Bifcy, co@ Wi TR IR
JH |

QOver
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(12 )

(j) Elaborate the differences between
deduction and induction. 10

S S SR TS 491 AI(FEER 902
foran |

* & K&
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